SuMPO EPD SUMPOIRIESAINTOT 5 L

SEUME’OD _ — B EE A Y AT F AR A
.o AAAAA S4TNEBIEEE (EPD) ERHTARBXAME-14-8
VERIFIED KANDA SQUARE GATE
BixES ¢ JR-AI-24331E https://ecoleaf-label jp

SHARP

vy -7t

(Sharp Corporation)

FORILVTIVAHS —ESIE

(DIGITAL FULL COLOR MULTIFUNCTIONAL SYSTEM)

BP-C131WD (US)

HEHNL ERES JR-AI-24331E
BHE1AHEY EAPCRES  PA-590000-Al-08
PCR#% B A H 2R (55 8RR]
HENRERFE 2AFA 2024%11815H
WK Ot REEEME 20244108180
ORMHFEE Q%EE OE OFER-HIFEE RiIsR VAT LFREEA R
®FE-UT1I RILES FV-08-24017
REEEEAR 20295108178
HAOB, T2k T PCRLE1-DENE
Bx :© BP-CI131WD REHZ 2023F 981H
AR 1 BFEEAR (EP) EEE IS5 22
ERETEE  T/70: 319 (A497) — R EE AT AT IR e e ek
h3- 31ys (A49T) BE=HRE"
RAABYIX @ A4 HNERIREER & T
TUVNAC—/AXvV/T7IA - 1E R
P EENRI/ADF : #ZXERAis ISO14025(CH 21 AT & R U T -9 DML LR EE
COREB WAER

*YAT LRI EZ I EEERNORIEDBEE. VAT LRHLZITEEEED
ZETEHE.
FWEhHEE
Iv-THARE AV-PEIRAYYI-Y3VEERER
E-mail:ECOLEAF-BS@sharp.co.jp
Ei#xES ¢ JR-AlI-24331E



SUMPOBRIESANINTOI T s

SUMPO SuMPO EPD

—BAHEEAY AT IR E S
o ‘..E PD 1T NEEES (EPD) HREBT RERAHE1-14-8
VERIFIED KANDA SQUARE GATE
Z§FE S . JR-AI-24331E https://ecoleaf-label.jp
OF1TY1 VIV EFMmiER
0% 20% 40% 60% 80% 100%
SUEZEh IPCC 2013 GWP 100a 530 | kg-CO.eq =
|
[7yele 0.44 | kg-SO2eq
| 0%0% |
ERHE 0.18 | kg-Sbeq
m DR # 57 mQEE = Q&
BOER-HEERE B OBEE- UYL
2F JBH| HEfI At | ORME#E  Q%E QB | @R wsEE | ORE- U
SUEZED IPCC 2013 GWP 100a | kg-COzeq | 5.3E+02 1.9E+02 1.5E+01 2.8E+01 27E+02 | 3.3E+01
74k 24 kg-SOzeq | 4.4E-01 1.7E-01 5.1E-03 5.9E-02 1.9E-01 1.9E-02
BRHE kg-Sbeq | 1.8E-01 1.3E-01 6.1E-05 1.2E-04 | 4.6E-02 3.1E-05
IHH B wH-9E (ERES) Bifif
FFLETREER 2.2E+01 kg e 5E 5 7.8E+00 kg
BEREER 4.5E+01 kg IS 1.6E-01 kg
TIIZUL 3.7E-01 kg
ZOtERE 3.7E-01 kg
T52FvY 1.0E+01 kg
I 3.4E-02 kg
H5A 8.9E-01 kg
4 A 3.6E+00 kg
F LA B EAR 9.4E-01 kg
Z0M 2.1E+00 kg

OEERRECEIT ZEMIER

BEOfERET s dek
-[EFEHAMM%E 5 £/, ENRIFEMREE 139,500 ¢ LT, REEMEEHLTWET,
31 (¥37/8) x 15 (ByP3ad) =4 x5 (B/B) x 4 GB/A) x12 (A/F) x5 () =139,5001%
-EIRIAMOBREAR I EENTVEA,
CBRETEICAVRYTUAICBVTRELEES - E#E5# EPAR)
CERIRINF-RI-TOTILVer3 0[CRRVEELTWET,

©-1.ZDMDIRFERIE ISR

AEROMEIEEETERBTHERAMAE M—DEE(L 1ISO14001 RIS TIHICTITTON TV,

DERLEZRT-90DEZ A
JREIL, IDEA v2.1.3 RU SUMPOERIEINN SOOI L% 57T -Fv1.18 ZEALTWET,

®fiF%E

OT-YETENH LR PCRELVEE - EERBESRL LA,
OLLEIIOVWTE, EE - EERBICRESNREEBLLLGELLIRHONEEA,
(B BR5URL ! https://ecoleaf-label jp/regulation/)

fag
o
i
djo

- JR-AI-24331E



